§6. 0000 OOOOOOOO

§400000000O0O00ODLDDODODDODUOODO0DODODDODDODO0ODODOOODOOO
gobogboobobouboobgubooboobooobooboo
bbb uoouan

§6.1 100000(MODOO1000000000O000O0A0)
godtbbodbil1dbduoououbolboduoobouoooogn
HEN

1[g] :J'XXbF(x,qo, ¢')dx = stationary (6.1.1a)

under
o(x,) =@,  ox,)=a (6.1.1b)
0000000000000 ¢0de/dx000000000000 Euler
goood

(Fy) =F, X, <X<X, (6.1.2)
OO00o0o0o0oooooooood

u=¢, X, <xX<x, (6.1.3a)

(F)' =F, X, <x<x, (6.1.3b)

00000000 (6.1.1)00

I[p,u] = IXXbF(x,go, u)dx = stationary (6.1.4a)
under
o) =@,  ox,)=a (6.1.4b)
u=¢, X,<x<x, (6.1.4c)

000000000000 000000(6.1.30)00000
000@®61.400000000000Lagrange 00000 pO0 OO0

ODoOO0gd@e.14b04c) 0000000 DOOODOO
"lg.u, p] = [ F(x.gu)dx —[ " p(u - ¢') dx

= POG)O(%,) —@ 1+ p(x,)[e(x,) - @,] = stationary (6.1.5)
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0000000000
0=4a" =I:(F¢6(p+ F,5u)dx —I:: p(du - 5¢) dx
= P(%,) 09(x;,) + p(x,)09(x,)
~[8p Qu-g¢/)dx
=0 p(x,) Ho(x,) =@, 1+ p(x,) dex(x,) - ¢, ]

X

=[P~ F,) 3¢+ (p~F,)duldx - ["5p [u- @)

=0 p(x,) Do(x,) —@,1+ 0 p(x,) Ho(x,) -] (6.1.6)
O00d0d0b00O0O0000ooboDooo0ooOoooooo

p=F, p=F, u=¢, X, <x<x (6.1.7a)

¢(Xa) :(pa’ (p(xb) :(pb (617b)

Oo0oooo®ei13)oooon
(6.1.72)0 00 1000 30000000 OOOO0OOOOO 20000
OO0 pOud00O0O0O00OD0OO0ODO0ODOOODOOOOODOOO84 0000
000 10000000 (mechanical condition)D O 2000000003
(kinematical condition)J 0 3 0D 000D ODO0O0ODODODOOOOOOO
(property or bridge condition) O 0 OO0 000000 OooOooOoodo
0o oooooogoooooooooo
O0000000000D0DoDoOoOOO0000ooooooooooood
OO00M0o00ooooobobooooom 10000 [M]Ob0MmM 300 [K]
OO000200[M-K]OOODODODOOOOOOOO@G.12.7p) 00000
DO0[K]JOOD 100000000(.1.400000000[K]J00000
Oo0o00O[MOOOOO0ODODOODODOOOO0OO0O00oOooa
6.150 00 00000000OM.L.72)0 00 200000000 D0O0
[M-K]OOOOOOO Legendre d O
p=F, (6.1.8a)
H=H(x, p)=pu-F(x,ou) (6.1.8b)
gooooooooodd

epl=rleupll, , =[ Tpe - H(x.0 p)de

(6.1.8)

176



- (%, )[@(%,) @]+ P(x,)[¢(x,) - @,] = stationary (6.1.9)
Oooooooooooooogooogg

0=4J :Lzb[péqo’ +3p @ —H,5p-H 3 p|dx

= (X)) 0p(x,) + p(x,)0¢(X,)
—0p(x,) Io(x,) —@, ]+ o p(x,) Ho(x,) —¢.]

:I::[—(p' +H,)0p+(¢ -H,)o p]dx

=0 p(x,) Ho(x,) =@, 1+ p(x,) HeAx,) — ¢, ] (6.1.10)
OO00o0o0o0oooooooood
@=H,, p=-H, X, <x<x, (6.1.11a)
o) =@, o(%,) =, (6.1.11b)
O0006.1.11a)J 0000000000 0O0O0O0OJ (canonical equation)
gooooon

(6.1.8)0 00O
dH (x,@, p) = pdu +udp - F,dx - F,dg-F,du
= -F,dx - F,dg+udp (6.1.12)
ooooo
H,=-F, H,=-F, H,=u (6.1.13)

O0D00000(.1.11a)000 100([KJOOOoOO 200 [M]OOOOO
O0od
Ooo0OoO@i19)0o0o0oooooooooooooMIooooood
Legendre [0 [
p'=-H, (6.1.14a)
G=G(x,p,p) = p'@+H(x,¢p) (6.1.14b)
Oo0ooooooooon

KIp1= 30, pll, ey = [ [P0 + P'0=G(x, p, p)]lx
= p(xp)[e(x,) —@ 1+ p(x)[e(x,) - @.]
= —IXXbG(x, p, p)dx + p(x,)@ — p(x,)@, = stationary (6.1.15)

oodobbobooooobbobodood
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0=0K =—["(6,6p+G,5p')dx
+0p(x,) [, —op(x,) [,
:I:[(Gp,)’—Gp](S padx

~[6, (%, p(X%,), P'(%)) ~ & B p(x,)

+[G, (X, P(X,), P'(%,)) — @, B p(x,) (6.1.16)
Odooouoouoouoooogno

G,) -G, =0, x,<x<x, (6.1.17a)

Gy (%, P(%). P'(%) =@ Gy (X, P(X,), P'(X,)) = @, (6.1.17b)

goooodgo
000(6.1.14)000
dG(x, p,p’) = p'dp+g@dp’ +H dx+H dp+H dp
=H,dx+H dp +e@dp’ (6.1.18)

gooog

G,=H, G,=H, G, =¢ (6.1.19)
O00000Oer.1500000oooooooooooge.1.17a)dn
Oooo@@ir14)0d0doooooddGld4c)booooonooood
6.1. 17000000000 booooOo@i14b) oo oooon
O0do@G.1r4)0@Gl1150 0000000000000 00o00oooon
[0 6.1.1] DO0OOOOOOOOOU0OoOobObbObODUoOoOo1robboobooDO
O0oo0odooodobootddbodddeedddOmOoongnk
00000 Lagrange O 0O F(x,¢,¢) 0O

F(x,co,co’)%mqo’z —%kqoz (6.1.20)
0000000000000(6.1.1)00 Hamilton0 OO O0O0O

191 = ["F(x.@.¢/)dx

=Ixﬂ£ mg'? —lk(p2 de = stationary (6.1.21a)
% [ 2 0

under
o) =@, o(x,) =9, (6.1.21b)
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O000DO0O00000ooooooooDe.1.2000
me" =-k@, x, <X<X,

goooooo
6.13)00000¢Oub0O0000O0O

1, 1, .,
F(x,ou)==mu°-=k

(X,,u) 5 R4
ooode.1.40o0o0o0oon

Ig.u] = [F (x.¢,u)dx

:I::%muz —%k(p2 de = stationary

under
(p(xa):<0a1 ¢(Xb):(pn

u=¢, X, <x<x,
o000
(6.1.8) 0000000 Legendre 0
p=F, =mu
— — A p2 k 2
H - H(t1<0| p) - pu - F(X1<01<0) __+_<0
2m 2
Oooooo@ei1900oooon
Jg.p1=["[p@ - H(x.g. p)dx
- p(xb)[go(xb) _%]-‘- p(Xa)[¢(Xa) _goa]
— J p2 k 2
= - X
IXaEW 2m 2<0 Ej
= P(X)[9(x,) —@ 1+ p(x,)[e(x,) —@,] = stationary
O0000bod0obOoooooooe.1.10)00o

; _ _p r_ _
qo—Hp—H, p'=-H,=-kp, x, <x<X,

go(xa) :qoa1 q)(xb) :gab
oood
O000obobooe.1.14) 0000000 Legendre 0 [
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(6.1.22)

(6.1.23)

(6.1.24a)

(6.1.24b)
(6.1.24c¢)

(6.1.25a)

(6.1.25D)

(6.1.26)

(6.1.27a)

(6.1.27h)



p'=-H,6 =k (6.1.28a)

12 2

G=G(t,pp)=poe+HXep) =-2+2 (6.1.28D)
2k 2m

Oo000O(@e.1.15 0000000

KIpl=—[ G(x, p, P)dx + p(x,) @ = P(X.)

T N _ i
= L% o + o X+ p(x,)® — p(x,)@, =stationary  (6.1.29)

O00D00O0O000000ooooooe.r.15000

n

P

L

” =0, X, <X<X, (6.1.30a)

3o

_ —q, - =0, (6.1.30b)

oooooono
[0 6.1.2] ODOOUOOUOUobobooOoUoOooo foooboooT,LOOO

gobiligboobodoboooboooboobobobobbobboob xd
O000eU0OIDDOUODDOUOO0DOOD 0L00DODODOOOOF(x,@¢)O

U l !
F(x,co,co)=ETo<02 - fo (6.1.31)
O000oboooo0oogo(e.1.1)0 0 0o0bofbibotbb oo o o o

1[41= [, F (x.0.9) dx

:I;%Toqo’z - fqo@jx =min (6.1.32a)
under
P(0)=0, ¢(1)=0 (6.1.32b)
O000o0booooooooooooogoe.1.2)0dd
T,¢'=-f, 0<x<lI (6.1.33)

goooooo
6.1.3)00000¢Oub0O0000O0O

F(x, ¢ u) :%Touz - fo (6.1.34)
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OooD@e.140000000

[, u] :I(:F(x,qo,u)dx

| .
:IO%TO u® - fqo@jx =min

under
®0)=0, ¢()=0
u=¢, 0<x<lI
oood
(6.1.8)0 000000 Legendre 0

p=F, =Ty

2

H = H(x,¢, p) = pu - F(x,@,u) =%+ fo

0

OooooOo0Oe.1990000000

Jlg. p1= [,[p@ = H(x @, P dx ~ p()@(1) + P(O)9(0)

2

=I; Ep(p’ _% - f‘PEjX — p(Dg(l) + p(0)e(0) = stationary

Ooooobbo0oooooooooe.r1)yod

¢1:Hp:£' p’:_H(P:_f' O<X<I
TO
@0)=0, ¢I)=0
oooo
00000000(6.1.140000000 Legendre OO
p'=-H,=-f
p2
G=G(x,p,p)=p'o+H(x e p)=2—
TO

0000061150 000000
|
K[p]=~{ G(x, p, p')dx

|p2
= —[ — dx = max
02T,
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(6.1.35a)

(6.1.35h)
(6.1.35c)

(6.1.364)

(6.1.36D)

(6.1.37)

(6.1.384)

(6.1.38D)

(6.1.39a)

(6.1.39h)

(6.1.40a)



under
p'=-f, O0<x<lI (6.1.40Db)
O00000000000o0o0ooobooge.1.3%)0o0ooono
O000000D0D00000OpO Lagrange0 00O O00OODO OO (6.1.40b)
Oooooooood

“Toal=- P d— ol  qtati
Kp,o]= IO oT dx Io(p(p + f)dx = stationary (6.1.41)
Jdodbodoooooooooboobon
— * e ! pép _ ! ! _ ! !
0=0K = 0T, dx Io(pépdx Ioé(pE{p + f)dx
— ! p U I 1
——IOET—O—(pEEEpdx—IOc‘SquQp + f)dx
—@(1)o p(l) +(0) p(0) (6.1.42)
oooooo@e.i140000o0o0oooooon
p=T,¢, 0<x<I (6.1.43)
0od
®0)=0, ¢()=0 (6.1.35h)
0DD0D0D(6.1.36a) 0 000000000(6.1.43) 00000
u=¢, 0<x<lI (6.1.35¢)

O00ooobooea3/)ooooogooer40)oooooonono
gobogboobobouboobgubooboobooobooboo
O00oobooooooooooooboooooooses4s igom
gobgood
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